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Question 9 (10 marks)

How useful would Sources E and F be for a historian studying the different goals of 10
Clemenceau, Lloyd George and Wilson in creating the Treaty of Versailles?

In your answer, consider the perspectives provided by the TWO sources and the
reliability of each one.
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Question 9 continues on page 6
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Question 9 (continued)

...............................................................................................................................

.......................................................... w ho

ost two  and hall mllsion Solcliecs
bsom iy Tog..7e ﬂmtmﬂ ,,,,,,,,,,, 0. 22 bllion
dallay.. Clemenceau oo wanked to

Calie.. tndug. LTI._O_J UL o:{ K\.ﬂe Laﬂ Cj ancl
m.g.!.’l{.ﬁ.g;l ....... thal Cltﬂ"“ﬂ“j%hmﬁd”@t haue
.fLLC. wanbed. to. dtrﬂu& (1 tﬁ’ﬂtxﬂj U}
.ht‘;. ﬂmmumbﬂﬂ Lﬂd.uitl g -

:’1&4\,'&) (}Lu_ti. and (Umdcked LL 'c_u z:um'ixj

.................................................................................................................................

Sip. botlle %PMKD s L,uﬂﬂttc al g

ese. . *"rr;fxwgf_x,an L. H/lﬁl,.t ,,,,,,,,,,,,,,, Qexananyy
wendld not . be able. to. CLUc-f;i-x {he

008 OQ LA PRILY. S W - LBatkish
FTLW\‘L MAnis. Le._.j? ........... wan ke o
f’}c"f‘ﬂ”\z

Jc_c.; Caﬂ%wﬁ:mg *‘;5 Es.. (—ED_W
LL/’LCDT’\ [}s,g"rLLc:a % = CrOBRl e 1 e T SO Cl.lﬁu
A9 Qan Q t\u. C,l""i' h. ’.?!..i...".}.ﬁ.z’..ﬁi"‘h.&,m Leram

g ol ek (aecans CeSent Atq_ﬂ
owands.. Hli;u A ﬂ‘..bﬂi Sy Edﬁttﬁr‘?;

(P;c. Shoiutl. L 500t 0. F)

End of Question 9
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